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Slalion Slop Bus A Bus B Bus C
Herbology 06:00 06:00 06:00
Umbridge's Office 07.00 07.00 -
Boy’s Dormifory 08:00 - 08:00
Clock Tower 09:00 09:00 09:00
Owlery 10:05 1005 -
Stone Circle 1100 1100 11.00
Hagrid's Hut 12:00 - 2:00
Great Hall :00pm :00pm 100pm
Boat House Z:OOPm Z:OOPm Z:OOPm
Viaduct 3:00Pm - -
Skone Bridge 4:00Pm 4:00Pm 4:00Pm

I) HOW long CIOGS ilf take ITO get from Herbo[o% ITO Stone Circle on bUS AP

Answer the queshons below us‘mg the informahon from the limelable.

2) How long does it take lo get from Ho,grid)s Hut to Slone Bridge on bus C?

6) ROH needs l’O get Oﬂf H’»e bU,S O,IT Hw OwlerH. \/‘”’LH should he nol 86[7 bUS CP
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7) HOW mang buses SITOP OIT H‘»e ViOdUCP

3) HOW [ong WiH HOU, be on H’Le IZ)US if HOU, 90[7 on Gt Herbolo% o,nd 90[7 Off H’Le IZ)US Ollf Slone Bridge an bU,S BP

4) HOFI"H gets an l)U,S A Gt Ho,grid's Huk o,nd 96t5 OJ:F H’»e l)U,S 0[7 Hw BOOIT HOUSG. HOW long is he on Hw bUS J:or?

5) If HOFFU is O,I? Hw BOH‘S DOleLOFH. He needs ITO 96[7 ITO H’LG BOO} HOUSG, whlch bU,S should he loke?
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I_OOI( CGFGJ.'U”H Gl‘ Hw hme [able below J.'OF Hw buses HIQI‘ run around Hogworls.

Slalion Slop Bus A Bus B Bus C
Herbology 06:00 06:00 06:00
Umbriclge's Office 0630 0630 06:30
Boy’s Darmifory 07.00 - 0700
Clock Tower 0730 0730 -
Owlery 0745 0745 0745
Stone Circle 08.00 08.00 08.00
Hagrid's Hut 0830 - 0830
Great Hall 09:00 09:00 -
Boat House 09:30 09:30 0430
Viaduct 09:45 - -
Slone Bridge 10:00 10:00 10:00

Answer the queshons below us‘mg the informahon from the limelable.

I) HOW long dOGS ilf take ITO get from Herbo[o% ITO Stone Circle on bUS AP

2) How long does ik take Lo get from Hagrid)s Hul Lo Stone Bridge on bus C?

3) HOW [ong WiH HOU, be on H’Le IZ)US if HOU, 90[7 on Gt Herbolo% o,nd 90[7 Off H’Le IZ)US Ollf Slone Bridge an bU,S BP

[I-) H(lrl"lj neecls ITO 96t tO Ho,grid's HUIT J,'Of‘ 830 What l)U,S will he need ITO getp

5) IJ: HOFFH is Qt H’»e BOH‘S Dormitorg. He needs ITO 96[7 ITO H’»e BOCI} HOUSG, which bUS should he ITOI(G?

6) Ron needs ITO 9€L Off Hw bU,S O,k H’LG ClOCI( TOWGF. Whﬂ should he no[ get bU,S CP

7) HOW manH l)U,SGS SITOP Cllf H‘»e ViOdUCP
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I_OOI( CCFGJ.'U”H Gl‘ H'le hme [able below J.'OF Hw l)USCS HIQI‘ run oround HOgWer’S.

MUOWNW sy Petier

Slalion Slop Bus A Bus B Bus C
Herbology 06:17 08:30 10:35
Umbriclge's Office 0658 08:42 10:41
Boy's Darmifory 070l - 11.02
Clock Tower 0733 09:29 115
Owlery 0736 09:32 -
Stone Circle 0748 09:37 II:34
Hagrid's Hut 0757 - 154
Great Hall 0819 014 2:16
Boat House 0833 10:29 -
Viaduct 085l - 12:34
Slone Bridge 08:59 10:57 [2:54

Answer the queshons below us‘mg the informahon from the limelable.

I) HOW long CIOGS ilf take ITO get from Herbo[o% ITO Stone Circle on bUS AP

2) How long does ik take Lo get from Hagrid)s Hul Lo Stone Bridge on bus C?

3) HOW [ong WiH HOU, be on H’Le IZ)US if HOU, 90[7 on Gt Herbolo% o,nd 90[7 Off H’Le IZ)US Ollf Slone Bridge an bU,S BP
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*4—) H(lrl"lj needs ITO 9et tO Hagricl's HUIT J,'Of‘ 830 What l)U,S will he need ITO geP
PAg

iS) IJ? HOFFH is Gt H’»e BOH‘S Dormitorg. He needs ITO 96[7 ITO H’»e BOCI} HOUSG, which bUS should he take?
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ié) ROH needs l’O get Oﬂf H’»e bU,S O,IT Hw OwlerH. \/‘”’LH should he nol 86[7 bUS CP
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§7) HOW manH bU,SGS SITOP Olf H’»e ViOdUCP
pAg
ig) ROH |'105 missed BUS A ancl needs tO be Olf Hagridls Huk JIOF Oq30 \I‘”’LOIT bus Wi” he need tO get now?
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iHow late will Ron be geHing bo Hagrid's Hul?
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